
Posterior plots of some CM-fits and Surrogate datasets
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Figure 1: Contours for MUXCL → DCTOR analysis in the HCT regime, with NH,los = 500 as input.
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Surrogate dataset for MUXCL DCTOR

Figure 2: Surrogate dataset for the MUXCL → DBOR CM fits
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Figure 3: Contours for MUXCL → DBOR analysis in the HCT regime, with NH,los = 500 as input.
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Figure 4: Surrogate dataset for the MUXCL → DBOR CM fits

4



o, norm Cfrac, norm i, norm

0.8 0.9 1.0 1.1 1.2 0.9 1.0 1.1 1.2 0.985 1.000

Figure 5: Plots for the in the upper panel are for the case MUXCL → DCTOR and the lower panel for the case MUXCL →
DBOR in the HCT regime.
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